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Please check whether you have got the right guestion paper
N.B: 1. All questions are compulsory.
{10}

Business is 3 activity,

{a) Organised (b) Social (¢} profit-making
Creation of wealth is one objective of business.
(a) Sotial {b} Economic (c} Political

Global husiness leads to
(a) Independent countries (b} Inter-dependence of countries  {c) Free countries

Turnaround is a strategy.

{a) Medium term (b} Short term {c) Long term

Society is one factor affecting environment.

(a) macro {b) Micro {c) Economic

is a trading block consisting of south Asian cuuntﬂe& D
(b) SAARC (c) ASEAN - e

by an enl;repreneur S Y AL

(b) Communication proof . f‘f:]fftﬁﬂ planning tool

Feasibility studies business potentially. S ‘,‘.‘:I"'

(a) Calculation (b) Estimate A 1 Furegas’cs. @{};‘gf

Companies intimate DIN to TS A -
(a) ROC {b) ccl N g ]E]ﬁoﬁgmﬁeﬁbﬁ

An entrepreneur businessidea. -~ T . o
(a) Reject {b) Debates _icj;tpw

{a) EU
Project report is used as
(a) Bank document
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designs service for S8I's. >
(a) TCO (b) NSIC. e NIESB o,
Women entrepreneu;are afpthgfamﬂw,\ S
(a) Dependents [b]ﬂuts}de Q8 3 © o (e) Ar

State True or Fafsg (Any Tan} :
Creation of em p!oyment uppurtunitfeﬂi Dn&funntmn of |

Business firms have social responsibllity onrygtnwards e
Importance of public sector cmqﬁhdhm!grllharali:atl
Tertlarg,in‘dusfry ;g;w‘f : ﬁngNE’Ws.

Busiﬂﬂiﬂtﬂwﬂm‘ﬁ the e ends m‘fam which the ac r
”Wﬂﬁﬁﬁ ref ’tﬂ'r-ﬂfmﬂhméni of surplus manpe
ﬂ&r'ﬂﬁu np‘t;nf;ﬁencu demand fqr }
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Discuss in brief the classification of business objectives .-:f:

Distinguish between economic and social objectives
OR

Discuss the impact of liberalization on business and economy.

Explain the scope of business
Why is it important to analyze business environment?

Explain the components of internal environment,

OR
Explzain the various functions of WTO

Explain the importance.ﬂf_entrepr'eneurshlp: -,
v ORA C ! )

LRSS
Discuss the vanouspmmntlonal mcentwesoffe red.t 0 women entrepreneurs.
e
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ning centers in India.
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A) Select the best answer from the given options and WW z j
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Pleass check whether o lusve A tas SR queion yay.
Al guestions are vy,
Al questions have intsrmal k.
. Draw nest diagrases Wasrever nosaTy.
. Use of simple caloulator is pormmised,
Figures o the right indicate 1) saks.

¢

ity Cost is i ~-mmearerres.
2) Price of 2 good or service
by All ous-of-pociet costs , P
¢) Value of the best altenasive saorificed - - 7
d) Price that exceeds market price

If Kommoner’s lowers the price of #5 pizzas, e
4) Denand for Ques’s pizzzs inoreses -

b) Dmdfbrmmaﬁ’smm o
¢) Dersand for (rueen’s pizzas docrezses. /

d) Bothbandc s L R
The supply curve illstinaes bow——. - '

by Quantity mdwémmﬁmmm _
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vii)

viil)

ix)

xi)

b) Cost of foregone ﬂ.itematwﬁ

~ Breakeven j:mint is ,rmhcd when a firm-—-——-—-o,
a) Eams zero profit
b t;‘-ovarmxm cst
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Delphi method s o oo oo
a) Survey method

Iy Stanstical method

¢) Bothaandhb

d) None of the above

For Ford Motor Company. all of the following are sources of economies of scale
EXCEPL —=mmmmmmmee

a) Mass production techniques used in the manufacturing of autos

b) Bureaucracy and red tape encountered as the firm becomes larger

¢) Learning by doing which allows workers to become more productive

d) Additional specialisation made possible by large scale production

The negative slope of the iso-quant is due to :
a) Diminishing marginal rate of technical substitution £ _
b) Zero marginal rate of technical substitution 4
¢) Marginal rate of technical suhst:tutmn is g:reztm'thm one - & &
d) None of the above , . et
. - A
When a firm experiences economies of scale, : &
a) The long run average cost curve slopes downward
b) The long run average cost curve is vertical
¢) The long run average cost curve sIﬁpes upward
d) The long run average cost. curve‘is hnnaﬂntal

An economist wnuld argur, that aceounmﬂs f.cnfim .
a) Understate costs and overstate profits
b) Understate costs and understate gmﬁts
c) Overstatc costs and undmtah: g!’pﬁt? o
d) Ov;arsta;e cnsts and qurstafa:pmﬁts.,

e 1_'
= . .
o L 1 e

Sunk cnstmeans S
a) Cost that is re:;oucrcd

¢) Bothaandb + F
d) Nc;the;:anorb S
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B) Match the concept with its appropriste definition/explanation/description. Any Tes.

o Coneept Definition /E xplanation Descripio
U Opportunity cost a] _Cost of an additional batch

1) Graph b] Value of the best alernat

m)  Law of supply c] Deiphimethod

iv) Pofectcompetition |
v) Survey method
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At the price of Rs, 200 what is the equilibri
20

supplied?
the new demand curve shi

When pen drives were int

Price of wheat
15

nereases and when price decreases. State wheth

and shifts in the demand curve,

inelastic,

iil)
iv)
i

B) Given the following data, calculate price elasticit
D) Explain the least s

D) Using diagrams explain the causes of changes
A) What are the determinants of demand?

C) What is demand forecasting?

Attempt A and BOR C and D
Attempt A and B OR |

|
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a plasaing curve?
D) What is the learaimg curve? Explain with 3 diogeasa.

)
i)

©) Dernive the LAC curve using the short nam aversge cost carves of & Smm.

Arempt A and B OR Wik short nows on sny fowr.
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NB: (1) All questions Are compulsory
(2) Figures to the right indicate full marks

1(A) Choose the correct alternative (any 8)

1. The Indian languages helong 10 - language families. &S ‘;:{ 4
3.2, 4) DA

2 Scheduled castes are not found in wee-e. 79
(Punjab, Mizoram. Uttar Pradesh) '

3. The Indian Constitution makes provision for posi
(15, 14, 17) >

4. One of the characteristics of urban centres mﬂtﬁhﬂ;
——. (2000, 5000, 4000) S
5. Gender is a -—-- concept. (Sociological, Econormic, k
6. Mongoloids, Negritoes and Austroloi :-_ e exar
(Rural, Tribal, Linguistic)
7. There are - schedules in the
(12, 13, 14)
8 Indiaisa-—-ofstates. .
(Union, Federation, Con
9. India has a -—-- Party i:‘:m
(Multi, Dual, Single) -
10. The 73" amendment (9 the Indian
11 —==er, ;g.\- r:“
(1990, 1991; 1992

o

(B) State whether E@ﬁ;:fﬂlo :
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2 a. Clarify the term violence against women and comment on the various
manifestations of violence against them in contemporary India.

OR 0 '.- :
2 b. Explain the manifold problems faced by the disabled in the wu? 7,

3 a. Examine the various causes of regionalism in India with m&ﬁ@%ﬁ%j? @-
Q .

P
ﬁ;,.\rb 1-,- ,.
m .»_,»,.

fk@@?tﬁ e
S ot %39

4 a, Examine the importance of the Fundamental Eﬁnégﬁg

‘Jl

OR :,

3 b. Explain the term Caste. What are the inequalities ca

4 b. Explain the _follewm
_a F ndame
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[Time: 3 Hours] [Marks 100]

Please check whether you have got the right question paper.

1. All questions are compulsory.

2. Figures to the right indicates marks allotted.

3. Graph papers will be provided on request.

4. Use of simple non-programmable calculator is allowed.

N.B:
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i Attempt Any Four from the following:

e with face value Rs.100 is Rs.130, how:

) If the market price of a shar
brokerage being 0.4%.

can be bought for Rs.3263,
ares of face value Rslﬂé’a :

ssued some sh
re. Find number of Shares:

B) Smooth Writing Industry i

declared by the company at 2.5% per sha ' L
0) Neil purchased 1200 units of a mutual fund by investin\gﬁs&% ﬂﬁ if i}é’hnﬂf}% oad} '.?,.2% find [05]
NAV on the date of purchase. P TR AL DS
= FF N OGN CNF I -
SR FR S S R B35, a dividend of 05]
D) Nihar invested Rs.400 00 in a mutual fund on 14-2-2| 13‘!13119“‘ ‘Nﬁc:’ﬁ%ﬂﬁééﬁ 12 when NAV [
Rs.3 i i 20-4-2012. Afterwards e sold alkthe WS SREES
O PEr unit was glVEﬂ on } : ratiry R -Elbmad_ 5 *‘-'t-‘\ _’Lp:;"\\-'f”é?:
was Rs. 16.85. Find his gain if there is no engﬁggy.ﬁ?’\:; s § q?q’? O |
SO G TS S I aidinvest Rs. 15000 for 5 {05

o eind underwhic ves
E) Aninvestor joined the S|P scheme fora n}@%;"éfiglh S "1’:-”1 i E,;?;Lgsa = e e
ach month ar"ﬂR@.- S e: AL _RS-\,-[BA 'aﬁ’b' *,ﬁé;ﬁ’_ B04 u,zgho'ut_-fb; these months.

ARk L S

months. If the NAVs for e

cost using Rupee cost averaging met}'{pfﬂi":\: A7 ST Ao
B v i : - e s =
N Sl S et
02 Attempt Any Four from the followingi . ‘:.s“';;é"fi‘“éjﬁo‘? ST A -
C S St oA bR foried. In how many ways the [05]
BT AL LR i HLE b 3 i3
A) From 4 professors and 6 Smdenﬁ’.-r:c ?ETEH ﬁ@’%&lﬂ?@%}@w@@ssw
committee can be formed su¢ that LU0 0 S SF - S oo
Sl P A 1,2,3,45,6 such that [05]
B) How many numbers of SEIgHSTaT S 3
i) no digitis reFeaE?s VA it
i iti digits is-allovy = SRR ; o e T e
. ii) repetition of _ig“:x Eo AR e i i S 1 choosed Captain, Vice-captain and wicket-  [05]
DTS S N o
C) How many ways.out' Dfa-?@ﬁrﬁ'e%&g&‘%»‘@
keeper from amo o fhemselves’s 5 Sy
P rm ﬂg\‘J T AN _:,."-,‘_?Q’ S Y, [05]
ST S SR g nically:
D) Solve the 1inqéf_;pr§gté;7"‘§*1 IR o o &
Min z= 10KF7Y0 0 4 16 (S QG e
AL R A Sy A S A o ) S
Sublectlor T 2B S S ST
) T { :{Y,_ {"JQ'"QA{;‘& Sy S
. g ) - rockets and pombs packed in boxes of [05]
Factory 1l performs

crackers,
e basic assembly operation.
80 hours available per week and

3 has only 1
pactary i h box of rockets and 10 hours on

1< 3 hours on eac
a8 3 00 nd 4 hours on box of bombs.

 pockets d
55 per box of bombs.
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A) mmmmmwm&gmm Fo T b '
Ciass Interval 5-10 1520 | 2530 | 28 P -5

frequency | 16 14 ! 13

|

qnwammﬂhmhxzmemmcﬂyﬁr&
3 ,,:; i Marks 2036 | 3049 | 2050
= No. of sitndents 11 i5 2%

e
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Q) 1P(A)=*/z, P15
D) The following tables
= ’: - 1
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18 artempt Any Four from the following

A} For the following pay off table, suggest o
{) Maximax criterion Gesting Hendpcteim iy wsig [05]

il) Maximin criterion i) Laplace criterion

narg S @ | & | @ |

!. |
. =, A D
e | ow | s | = [ Z
L L \ ke 1; 34 i __Fd_—[» 4

B) Draw a decision tree for the followin decnslnn maklng roblem and suggest 5u mu Wmm [05]

Lo
action
| Al 34 1
[ A2 14 15 F ¥
: Probabili 0z | 03 0.5 ;
C) Define the following along with examples: [05]
i) Acts VA
ii) States of Nature ol
D) The following is demand distribution of a certain product: [os]
its demanded 10 1 | 1z
0.35 0.40 i 025

tyﬂﬂlmﬂpﬁﬂeﬂi ?l‘lpﬂ unit, Prepare a paye

The product is sold at Rs. 100 per uni .

decide the best decision. The unit nﬂ:mld




